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Name: __________________________________


1
The slope of line [image: image1.png]


 is [image: image2.png]


.  What is an equation of a line that is perpendicular to line [image: image3.png]


?

	1)
	[image: image4.png]




	2)
	[image: image5.png]-2x+ 6






	3)
	[image: image6.png]




	4)
	[image: image7.png]ix+y=10







2
Which equation represents a line that is perpendicular to the line represented by [image: image8.png]


?

	1)
	[image: image9.png]3x+ 2y






	2)
	[image: image10.png]




	3)
	[image: image11.png]




	4)
	[image: image12.png]






3
Which equation represents a line that is perpendicular to the line whose equation is [image: image13.png]y-3x=4



?

	1)
	[image: image14.png]




	2)
	[image: image15.png]




	3)
	[image: image16.png]




	4)
	[image: image17.png]






4
Which equation represents a line that is perpendicular to the line whose equation is [image: image18.png]-2y =3x+7



?

	1)
	[image: image19.png]x+7






	2)
	[image: image20.png]2y=73x-13





	3)
	[image: image21.png]




	4)
	[image: image22.png]






5
Which equation represents a line perpendicular to the line whose equation is [image: image23.png]2x+ 3y




?

	1)
	[image: image24.png]by =—4x+ 12





	2)
	[image: image25.png]2y=3x+16





	3)
	[image: image26.png]Zy=-3x+6





	4)
	[image: image27.png]3y =-2x+12







6
Which equation represents a line that is perpendicular to the line represented by [image: image28.png]x—y="T



?

	1)
	[image: image29.png]




	2)
	[image: image30.png]




	3)
	[image: image31.png]




	4)
	[image: image32.png]2x+ 6








7
Which line is perpendicular to the line whose equation is [image: image33.png]Sy+ 6

=3x



?

	1)
	[image: image34.png]




	2)
	[image: image35.png]




	3)
	[image: image36.png]




	4)
	[image: image37.png]






8
What is an equation of a line that is perpendicular to the line whose equation is [image: image38.png]2y + 3x



?

	1)
	[image: image39.png]




	2)
	[image: image40.png]




	3)
	[image: image41.png]




	4)
	[image: image42.png]






9
Given two lines whose equations are [image: image43.png]ix+y-8




 and [image: image44.png]-2x+ by +




, determine the value of b such that the two lines will be perpendicular.


1
ANS:
3

The slope of [image: image45.png]


 is [image: image46.png]


, which is the opposite reciprocal of [image: image47.png]


.
REF:
081225ge

2
ANS:
1

The slope of [image: image48.png]3x+ 2y




 is [image: image49.png]


, which is the opposite reciprocal of [image: image50.png]


.
REF:
081811geo

3
ANS:
1

[image: image51.png]Sdxedm=inm,





REF:
012405geo

4
ANS:
3

Divide the equation [image: image52.png]2y =3x+7



 by -2 to transform to the slope intercept form, and note that [image: image53.png]


  Perpendicular lines have slope that are the opposite and reciprocal of each other.  The slope of [image: image54.png]


 is [image: image55.png]



REF:
060528a

5
ANS:
2

The slope of [image: image56.png]2x+ 3y




 is [image: image57.png]


.  The slope of a perpendicular line is [image: image58.png]


.  Rewritten in slope intercept form, (2) becomes [image: image59.png]


.
REF:
060926ge

6
ANS:
1

[image: image60.png]



[image: image61.png]



REF:
061509geo

7
ANS:
2

Transform the equation [image: image62.png]Sy+6




 to [image: image63.png]


  [image: image64.png]


.  The slope of [image: image65.png]5
2247
y 37-



 is [image: image66.png]



REF:
080630a

8
ANS:
1

[image: image67.png]


  [image: image68.png]



REF:
081908geo

9
ANS:


6.  The slope of the line [image: image69.png]3x+y-




 is [image: image70.png]


.  The slope of a line perpendicular to [image: image71.png]3x+y-




 would have a slope the opposite and reciprocal of -3, or [image: image72.png]


  [image: image73.png][
e s



.
REF:
fall9925b

